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No. me Hh X 134 L1137 Y LAE BIERR
1 |7RINSHR R [REET (10BgAT) |[#REEF (10BgA T) |#RHEE T (10BaL F)| BiE=R
2 |IF BE |BREET (0BT |HREET (10BlT) [#REET (10BaL )| iR
3 |h7 FH |[BREETBUT)|BREET (10BgLT) [#HRHEET (10BaAT)| BiER
4 [EIFE BHE |BREET (0BT |HREET (10BLlT) [#REE T (10BaLT)| iR
5 | ¥R A |BREET (0B T)|#BHEEF (10BaLL ) |#HEEF (10BqL )| iz
6 [EIx A |HREET 0BLT) |[#REET (10BaLlT) [#RHEE T (10BaL )| iR
7 (oLVY BAE |[BHEET0BUT)|BEET (10BULT) |[#HEEF (1B TF)| Mg
8 [fIRE AE |HREET (10BLT)|#REET (10BaLlT) [#RHEE T (10Bql )| iR
9 |2 R |BHEET (10BLLT) |#HEEF (10BaLLF) |#HEE 3 (10BaLF)| #MiE=
10 | L% ZHHE |#EEET (10BaLT) 12.97 12.97 g
11|+ BHE |BRHEET0BUT)|HREET (10BULT) |RHEET (10BglLTF)| iR
12|54 /3 b BRHEET (10BgAT) |#EEF (1Bl ) [REE T (10BaAT) | HER
13|%%7/3 FEiR  |#BEET (10BgLTF) 30.68 30.68 R
14|37 /3 fEiR  [RHEET (10BgATF) |[#REE T (10BgAT) |#REE T (10BaL F)| BiE=
15|54 /3 FER  |BHEET (10BLLT) |[#HEEF (10BqLL ) |#HEE 3 (10BaAF)| i
16 | %7 /3 FR  [REET (0B T) |[#REET (10BgAT) |#REE T (10BaL F)| BiE=
17|%%7/3 BE |BRHEET0BUT)|HREET (10BULT) |#HRHEET (10BalLTF)| iR
18 (2% /3 HE [H®EET(10BqLLT) 100.30 100.30 g
19|%%7/3 BE |BRHEET(0BUT)|HREET (10BgULT) |#HRHEE T (10BalLTF)| iR
20 | %47 /3 HE [H®EET(10BqLT) 28.20 28.20 g
21 |44 /3 BE [#®EET(10BqLT) 16.09 16.09 BEiE
22 (%47 /3 BHE [BREET(0BqUT)|#HEET (10BglT) [REET (10BaAT)| #HIERX
23 (#/7/3 BHE [BRHEET(10BqUAT) 4258 4258 LT 3E
24 (B4 /3 = BRHET (10BgAT) [BRHEET (10BgAT) [BRHEET (10BaAT)| WHiERK
25 (#/47/2 R |BRHEET (10BLT) |#RHEE T (10BaLLF) |#RHE 3 (10BgL )| iR
26 |24 /3 R [BREET (10BqLT) 12.75 12.75 miE =t
27 %47/ MR [BRHEET (10BaLT) 14.45 14.45 T 3E
28 (247 /3 iR [REET (0B T) |[#REET (10BgA T) |#REE T (10BaL F)| #iE=
29 (#/47/2 R |BRHEET (10BLT) |#RHEE T (10BaLLTF) |#RHEE 3 (10BaA )| iR
30 |24 /3 R [BREET (10BqLT) 19.71 19.71 miE =
31|44 /2 R 13.76 51.55 65.31 g
32 |44 /3 R [BmEET (10BqLT) 17.40 17.40 miE =
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No. & B X ) L1134 S L137 o LEE BIERR
33 44/ AE |BRHEET (0B T)|#RHEET (10BqLT) |#RHEE T (10BaA )| iR
34 (247 /2 FE |[RHEEI (10BaAT) |[#RHEE I (10BalA T) [#RHE 9 (10BalA T)| Btk
35 (24 /3 FE [REET (0B T) |[HREET (10BgAT) |#REE T (10Bal F)| BiE=R
36 [#/47/3 A |HREET (0BT |[#REET (10BaLLlT) |#RHEE T (10BqL )| iR
37|44 /2 FE |[RHEEY (10BaAT) 11.97 11.97 BRiE
38 [#/47/2 FIA |[HREET (0B T) |[#REET (10BaLLlT) |#REE T (10BqL )| iR
39 |24 /2 FE |[RHEET (10BaAT) 59.80 59.80 BRiE R
40 |84 /3 e 10.59 5327 63.86 g
4 (B4 /3(F) fEiR  [BRHEET (10BgAT) |[#REEF (10BgAT) |#RHEEF (10BaL F)| BiE=R
42 (B4 /3 (&) BE |BREET 0BT |HREET (10BlT) [#MREET (10BaLT)| iR
43 |7 /2 (&) {ZHE |BRHEET(10BaAT) |BREET (10BqL )[BT (10BqATF)| #iE
44 | B4 /2 (H) R [HREET (10BqLLTF) 12.16 12.16 i
45 [f=5MF FiH  |BREET (0B T) |#RHEE T (10BaLTF) |#RHEE 3 (10BgLTF)| iR
46 [fzHDF FaiR  |HBREET (0Bl T) |#RHEE T (10Bqll ) [#RHEE 3 (10BaL )| iR
47 |[F=bDF BiR  |[BRHEEI (0B T) | BHEET (10BLTF) [#HEE 3 (10BqlLF)| BIER
48 [f=5 D3 BHE |BREET (0BT |HMEET (10BaLlT) [#REE T (10BaLT)| iR
49 [T D3 BE 50.00 186.80 236.80 gt
50 [f=5 D3 HE |[BEE9 (10BqLTF) 35.61 35.61 miE
51 [fz5MDF BHE |BRHEET0BUT)|HREET (10BULT) |#RHEET (10BalLTF)| iR
52 [f=5 M3 IR 43.60 176.80 220.40 it
53 |fzb M3 PR |BHEET (0B T) |[#HEEF (10BaLL ) |#HEE 3 (10BaAF)| i
54 (=5 HFH [REET (0B T)|[#HREET (10BgAT) |#REET (10BaL F)| MR
55 (=5 R |BREET (0B T) |#RHEE T (10BaLF) |#RHEE 3 (10BgL )| iR
56 (=5 AT [REET (0B T)|[HREET (10BgAT) |#REE T (10BaL F)| #iE=
57 (=5 A |BREET (0B T) |[#RHEE T (10BaLT) |#RHEE 3 (10BaL )| iR
58 [~ IR [REET (10BgAT) |[#REET (10BgAT) |#REE T (10BaL F)| BiiE=
59 [[ZHHD FE |[RHEET (10BaAT) 29.90 29.90 BRiE
60 7% RH [REET (0BT |[HREET (10BgAT) |#REE T (10BalL F)| MR
61 |7% FH  [BRHEET (0B T) |[HRHET (10BqLT) |[#HEJ (10BalL F)| #itE=
62 | 7% BHE |[BEE9(10BqLT) 13.03 13.03 Wit
63 | 7% ZHA (HREET (10BgUT) [(HREET (10BgAT) [HREET (10BaAT)| WHiER
64 | 7% AT [REET (0B T)|[HREET (10BgAT) |#REE T (10BaLl F)| #iE=R
65 |70yal)— AE |BREET (0BLLT)|#REET (10BaLLl ) |#REHE T (10BaL )| iR
66 [ b {ZHEA |[#BRHEET (10BaAT) |BEET (10BqLT) [#HEET (10BqATF)| #HiEX
67 [75E FEiR  |MEET (0Bl ) |#REE T (10BaLlT) [#RIEE T (10BaL )| iR
68 [7SE FE [REET (0B T)|[HREET (10BgAT) |#REE T (10BaLl F)| #iE=
69 |7 5E FIA |HREET 0BLLT) |[#REET (10BaLLlT) [#REHE T (10BaL )| iR
70 |7 SE (%h) B [REET (0B T) |[HREET (10BgAT) |#REE T (10BgL F)| #iE=
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1| 7757 ZHEA [BRHET (25BqAT) [BRHE T (25BqAT) [BRHE T (25BqAT) | FERM RN
2 |7735+ AE |HREET (25BqLlT)|#&REE T (25BqlL ) |[#&E €3 (25BqlA ) | FEMEER S
3 |73+ HH |RHEET(25BqlL ) |RHEE T (25BqlL ) |3 (25BalA ) | FEBEER
4 [Ha¥ AE |HREET (25BqllT)|#&REE 3 (25BqlL ) |[#&E €3 (25BqlA ) | FEMEER S
5 [oa¥ xE 85.40 267.50 352.90 1373
6 |VF CHE |[HREET (25BqLT) [RREE T (25BqLL ) [ 9 (25BqlAT) | IEMR
7Ok AE |HRHEET (25BqlLT)|#RHEE T (25Bqll )[R 3 (25BalA ) | FEBEER
8 |7LA BA  |HREET(25BqLLT) | E 3 (25BqlL ) | €3 (25BqlA ) | FEMEER S
9 [HBLE FiH  |BRHEET(25BalLT) | 3 (25BalL ) |[#&H £ 3 (25BalA ) | FEBEER
10 |ZELE b BHET (25BqATF) [BRHE 9 (25BqAT) [ HE 9 (25BqAT) | IERIRN
N EE2 BT (BT (25BqAT) [HREHET (25BqAT) [ (25BqAT) | FER IR
12 |EME CHE |[REET (25BqLT) [FREE T (25BqLL ) [ 9 (25BqlA T) | IEMR
13 |ZE R AT |HREET (25BqLLT)|#&REE T (25BqlL ) |23 (25BqlA ) | FEBEIR
14 |FE30 % AE |HREET (25BqllT)|#&REE 3 (25BqlL ) |3 (25BqlA ) | FEMEER S
15|22 A |HREET (25BqLL ) |[#RE T (25BqlL ) |[#&RE £ 3 (25BqlA ) | FEBEIR S
16 |ZLHAD =% N 215.80 717.90 933.70 FEmgiE =
17 [/ B FH |HREET(25BqLLT) |#&REE T (25BqlL ) |29 (25BqlA ) | FEBER S
18|t R |HREET(25BqlL ) |[#&HE 23 (25BqlL ) | & €37 (25BqlA ) | FEREER
19|24 FR  |WREE T (25BqLL ) |3 (25BqlA ) |[#R £ 9 (25BqlA ) | FEBEIR S
2 (<A A |HREET (25BqlL ) |[#&RHEE 3 (25BqlL ) | £ 3 (25BqlA ) | FEMEER
21 |34 /3 FH |BREET(25BqUT)|[HREET (25BqlT) [ 3 (25BalA ) | EREIE
22 (%47 /3 FH  |BREET(25BqLLT) |3 (25BalL ) | £ 3 (25BalA ) | FEREER S
23 (247 /3 FER  |#RHEE T (25BqLL ) |[#RH B3 (25BalL F) | &3 (25BqlA ) | FEME R
24 (247 /3 EIR  |HREET(25BqlLT) |23 (25BalL ) | £ 3 (25BqlA ) | FEMEER S
25 (247 /3 BHE |BRHEET(25BqUUT)|HRHEET (25BqLlT) [T (25BqlLT) | IERIERR
26 (#/7/2 BHE |BRHEET (25BqLT)|HMREET (25BqLLT) |#RHE 7 (25BqllT) | IERIER
27 (%4 /3 = R (25BaLA ) [#RH 9 (25BqLA ) [#RH €9 (25Bq LA TF) [ FERRIRT
28 |84 /3 = B9 (25BqA ) 25.30 25.30 JERIER
29 (B4 /3 ZHEA [(BREHET (25BgAT) [HBRHE T (25BqAT) [ (25BqAT) | FER IR
30 [#47 /2 CHE |[BREET (25BqLT) [FREE T (25BqLl ) [ 9 (25BqlA T) | IEMER
31 |#47/3 HR  |[RHEE T (25BqLL ) |[#RH B3 (25BalL ) |37 (25BqlA ) | FEREE R
32|%/7/a IR |[BREET (25BglAT) [RHEET (25BalA ) [#RHEE T (25BalA ) | FERIE
33 (%24 /3 AT [RHEET (25BqAT)|[RHEET (25Bqll T) [#RHE BT (25BqA ) | FERIER
34|57/ AE |[BREET (25BqlAT)|[RHEET (25BalAT) [#RHEE T (25BalA ) | IERIE
35 (247 /3 AE [RHEET (25BqAT) |[RHEET (25Bqll T) [#RHE BT (25BqA ) | FERIER
36 |27/ AE |[BREET (25BqlAT)|[RHEET (25BalAT) [#RHEET (25BalA ) | FERKIE
37 (%4 /3 AT [RHEET (25BqAT)|[RHEET (25Bqll T) [#RHE BT (25BqA ) | FERIER
38 |27/ A |[REET (25BqAT)|[REET (25BalAT) [#RHEE T (25BqlA ) | FERKIE
39 [#47/3 A |HREET (25BqLL ) |[#&REE T (25BqlA ) |[#&RE 23 (25BqlA ) | FERER
40 |24/ A |[REET (25BqAT) |[BREET (25BaAT) [#RHEE T (25BqlA ) | IERKIE
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No. & B X ) L1134 S L137 o LEE BIERR
41 (B4 /3 A |HREET (25BqlL ) |[&RHEE T (25Ball ) |[#&H £ 3 (25BalA ) | FEBEER
42 (347 /3 A |HREET (25Bqll ) |[#&REE 3 (25BqlL ) |[#&E €3 (25BqlA ) | FEMEER S
43 (245 /3 A |HREET (25Bqll ) |[RHEE 3 (25BqlL ) |[#&H £ 3 (25BqlA ) | FEBEER
44 (245 /3 A |HREET (25Bqll ) |[#&REE 3 (25BqlL ) |[#&E €3 (25BqlA ) | FEREER S
45 |27/ | 114.50 361.20 475.70 1373
46 (247 /3 (&) FH  |BREET(25BqLLT) |[#RE 3 (25BqlL ) |[#&E €3 (25BqlA ) | FEREER S
47 (B4 /3 (&) BB |[RHEET (25BqlL )[R 3 (25BqlA ) |[#RHE €3 (25BqlA ) | FEREER
48 |27 /() R [BRHEE T (25BqAT) |[IRHE T (25BqlA T) [#RH B9 (25Bq A ) | FERIER
49 (B4 /2 (F) AE |HRHEET (25BqlLT)|#RHEE T (25Ball F) |[#&H 3 (25BalA ) | FEBEER
50 (247 /(&) AE |BRHEET (25BqLLT) |3 (25Bql ) |13 (25BqLA ) | FERE R
51 |24/ (&) AT |HBREET (25BqLLT) |#REE T (25BqlL ) |23 (25BqlA ) | FEBEIR
52 [fzbMDF BFH |HREET(25BqllT) |#&REE 3 (25BalL ) | €3 (25BqlA ) | FEMEER S
53 [fzHMDF BHE |[REET (25BqAT)|HRHEET (25BqllT) [HRHEE T (25BqATF) | FERIER
54 [f=5 D3 KB |9 (25BqllT) |9 (25Bqll )[R €3 (25BqlA ) | FEREERS
55 [f=H D 3 FR  |WREE T (25BqLL ) |3 (25BqlL ) |[#& £ 9 (25BqlA ) | FEBEIR
56 [fzHDF AE |HRHEET (25BqllT)|#&REE T (25Bqll ) |3 (25BqlA ) | FEMEER S
57 |fz5MD3F AT |HBREET (25BqLLT) |#REE T (25BqlL ) |23 (25BqlA ) | FEBEIR
58 [fzHMDF AE |HREET (25BqllT) | E 3 (25Bqll ) |3 (25BqlA ) | FEMEER
59 |tz M3 FE 25.50 69.40 94.90 JEREIE
60 |f=H M3 A |[REET (25BaAT) 30.70 30.70 JERIER
61 [fzHDF A |BREET (25BqLLT) |[#&RHEE 3 (25BalL ) |3 (25BqlA ) | FEMER
62 | #F EIR  |HREET(25BqlLT) |23 (25BqlL ) | £ 3 (25BqlA ) | FEMEER S
63 [ WiR  |#REET (25BqlL ) |[#RE 3 (25BqlL ) |[#&R £ 3 (25BqlA ) | FERER
64 |1+ A |#HREET (25Bqll ) |3 (25Bqll F) | &£ 3 (25BqlA ) | FEMEER S
65 [A3x AE [RHEET (25BqAT) |[RHEET (25Bqldl T) [#RHE BT (25BqA ) | FERIER
66 [EEE H  |BRHEET(25BLT) [T (25BqLLT) [ EF (25BqLL ) | FEREE
67 |EERE CHB |BREET (25BqLLT) |HRHEET (25BqllT) |#RHE T (25Bqll T) | JERER
68 |[FERE BT [BRHET (25BqUT)|[HRHE T (25BqlAT) [HRHEE T (25BqAT) | FER RN
69 | 7¥ EIR  |HBREET(25BqLLT) |[#RE 3 (25BqlL ) |[#&RE £ 3 (25BqlA ) | FERER
70 (7% BT [BRHET (25BqAT)|[HRHE T (25BqlAT) [HRHE T (25BqAT) | FER RN
7 |7% A [RHEET (25BqAT) |[RHE T (25BqlA T) [#RHE BT (25Bq A ) | FERIER
722% ZHEA [HRHET (25BqAT) [BRHE T (25BqAT) [BRHE T (25BqA T) | FER RN
73| 7% ZHEA [(HREHET (25BgAT) [HRHE T (25BqAT) [ (25BqAT) | FER IR
74|7% IR |[BREET (25BglAT) [RHEET (25BalA ) [#RHE T (25BalA ) | FERIE
75 7% R [BRHEET (25BqAT) |[IRHEE T (25BqlA T) [#RHE B9 (25Bq A ) | FERIER
76 | 7% (&) IR |[BREET (25BglAT) [RHEET (25BalA ) [#RHEE T (25BalA ) | FERIE
77 (7 Awyal)— ZHEA [HREHET (25BgAT) [HRHE T (25BqAT) [ (25BqAT) | FER IR
78 |7 A0val)— AE |[BREET (25BqlAT)|[HREET (25BalAT) [#RHEET (25BqlA ) | FERKIE
79 [[F5NAE ZHEA [(HREET (25BgAT) [HRHEE T (25BqAT) [ (25BqAT) | FER IR
80 |[[FONAE A |[REET (25BqAT) |[BREET (25BaAT) [#RHEE T (25BqlA ) | IERKIE
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81 [FL#h AE |BRHBEET(25BqLLT)|[#HBHEET (25BqLLT) |[BRHEET (25BqLL )| FEfEIE
82 [3EX FH |BRHEET(25BqLLT) |3 (25Bqll ) |13 (25BqlA ) | FEME R
83 [AEFX AE |HBRHEET (25BqlLT)|RHEE T (25BqlL ) |[#&RH 3 (25BalA ) | FEBEER
84 [73E FH  |BREET(25BqLLT) |[#&REE T (25BqlL ) |[#&HE £ 3 (25BqlA ) | FEREER S
85 [73E BB |[RHEE T (25BalL )[R T (25BqlA ) |[#RHE €3 (25BqlA ) | FEBEER
86 [ITE BHE |REET (25BqLT)|HMREET (25BqllT) [#RHEE 7 (25BqllT) | IEREIER
87 (73E R |[HRHEE T (25BqlL )[R B3 (25BqlL ) |[#&HH £ 37 (25BalA ) | FEBEER
88 [73E R |HREE T (25BqlL ) |[#&RE 23 (25BqlL ) |[#& €37 (25BqlA ) | FEREER S
89 [73E BR  |[HRHEE T (25BqlL )[R 3 (25BalL F) |[#&HH £ 37 (25BalA ) | FEBEER
9 [TTE R |HREE T (25BqlL ) |[#&RE 23 (25BqlL ) |[#& €37 (25BqlA ) | FEMEER S
91 [73E FR  |WREET (25BqLL ) |[#RE 3 (25BqlA ) |[#&R £ 9 (25BqlA ) | FEBEIR
92 [735E MR |#REET (25Bqll ) |[#&HE 23 (25BalL ) | & €3 (25BqlA ) | FEREER S
93 [735E A |HREET (25BqLL ) |[#RE T (25BqlL F) |[#&RE £ 9 (25BqlA ) | FEBEIR
94 [J3E (Fm) BE 32.20 106.70 138.90 JERgiE =
95 (7L (%h) FR  |WREE T (25BqLL ) |3 (25BqlL ) |[#& £ 9 (25BqlA ) | FEBEIR
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